TEMtE GHEERFRE) (D) 105, 850, 000
PR ALEAAS (HRRRE) 84, 210, 000
ARLFAE BAETHHEFLS X (NEX) )
1. fF & EEU3 TAREE JRAAEE BB B S BRI Y B B4 TEAM | [EE SRR R K4 gk BT A
X AL #AT B
2. BB A EE ST
A B4 AN | [EE SR AR ER R K4 il &2 [
3. AFLHKE  ERK3 14 2HA13H 1 0lE3 04y
- A1l #5220 5 31ml
ESEd &“ AFLATIRE %1 fili 5. (C) S i NFLARS %1 fili 5. (C) S i NFLARS %1 fili 5. (C) A i 2=
(B) 30x {1-(B)/ (D)} 1) + (©) (B) 30x {1-(B)/ (D)} 1) + (©) (B) 30X {1-(B)/ (D)} ) + (©
Rk 3 1A IR A B BT
AAHRE (k) 58.5 95, 200, 000 3.0184 61.5184 — — — — - —
BR) 74 —Fy b¥r /N 55.5 95, 260, 000 3.0014 58.5014 — — — — - -
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1. 44 ERI1EE ENEREBEBEERMNER
2. FREBEHAT ERG ) EEEEA
3. AfLBEFF FH314£2H13H 108305
HEARETE (HfE) HiftlREE BITRERE M FHE
EEREMNE HLEME - HiffiR=E . B B
R PP - s [FES —DOEETT N e BRER | asE- Gl
= 2 X (L4 cFpEH| 2 DEEEITHT HRGEIZDL & SR | (W) || (60#RE)
&S = He =pq 535 =pq (=55 RfEE A < = X ©) INEH (D)=
£ s | wEn | w#H (B)*(C)
BORETE ERMY
5 5 5 5 20 10 20 20 10 60 1.00 60 80 60
1 |BARIREER 5 5 3 5 18 - 10 20 20 10 60 1.00 60 78 58.5000
2 |#Fr—Rurswiy 5 5 5 5 20 - 10 20 16 8 54 1.00 54 74 55.5000
3 [[PES)FE PuRmmEEAR] 5 5 5 5 20 -~ 10 20 20 10 60 1.00 60 80 60.0000
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